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A slave is comparable to land — N7 SYPIPRD NTAY

OVERVIEW

The x5 cited a dispute in a X712 whether there is 77°v» if one was w*7pn an 72y,
The X3 initially assumed that this depends whether °»7 *ypa72 X72¥ or not. Md0IN
explains why the rule of 7%°¥7 is dependent on 7 *¥pIpnd K72,

— 92093 NYIPM PRT I3 BIYPIM PN TI9)
And therefore, since °»7 >vpIpnd X72¥, there is no 9%w» if one derives benefit

from an 72v of w7pn, for there is no 779°p» 210 for something which is attached to

the ground.
— 'n1Py9nn KON KON N9SYN 199999 (3,m nyn) NININ PIHOY

For in 113737 272 we derive laws of i9°w» from laws of mm1an through the mw 77°m
of Run R,

mdoIN responds to an anticipated difficulty:
— (x,0¥ NIN2 X32) 120N NN 9290 P92 13299INRT XM

And regarding that which the X723 states in 77395977 IR 9292577 29D -
—191NaVY N33 POV D XYM 92 YWITPN

If one was w7pn a cistern full of water, there is a 57°¥» 2117 for the cistern
and what is inside it (namely the water) if one derived benefit from them, the explanation of
12 7o s -
—92IN12 NDIYN PN NNT 9122 NN YINIY Z9n1Y 13%29 DY Y92V M9 NY
Not like the 0"2w= explained it there, that he placed his belongings in the 912
(and for that there is a 72°¥» 2vn), this is incorrect because there is no 7% in
something attached to the ground (like the 113; which is the ground) -
231391 1313 XN AN 19 PPV NN
But rather 12 "%y means if he dug out a shovel full of earth from the =12 and

derived benefit from the earth, then there is a 79°yn 21, for after he dug it out it is no more
yPIPR 2.

SUMMARY

! Regarding 170 the 70 writes (1,20 [17&] 877 that Xvn 15y Ww° 891 and regarding 79°y» the 7790 writes ( XM
1,1) that "7 "w7pn m3aw2 axvm. We derive just as 72170 is only by something which is not attached to the ground (for
7N is given only after the produce is harvested) similarly the 79°¥» 211 is only by ¥papn 12 won.
2 poym A,
? See “Thinking it over’.
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There is no 77°v by ypp (and similarly by mypap? wpinw 0°72y) since there is no
72°vn by "2nn.

THINKING IT OVER

mooin states that (even though if you derive benefit from the M2 itself there is no
T2°vn since it is ¥pph N2wn, nevertheless) if you uprooted a X9 from this 713,
there is 72°¥n since now this X1 (which was 221n previously) is now w¥on.* It
should therefore follow that there should be 737°v7 in the work (17> 7wyn) of this
72V, since the 17> nwyn (which originate in the 72v who is w17p) are w12n. In fact the
72y himself should be 17 mwyna Mox!’

* See footnote # 3.
3 See *"xon.
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